Name Date Pre-Calculus 1

Unit 3 Test Review- Identities
1. Prove the following identity: sec B—cos B =tan Bsin B .
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2. Prove the following identity: tanx —cotx = S—xﬂ
SIN XCOSXx
SNX . (ogX
(O5YX SIK
Sinéx - Cos?X
Sin¥. cos K
3. Prove the following identity: sin x—cos* x=1-2cos’ x
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4. Write the expression as a single trigonometric function: cosllxcos4x+sinllxsin4x.
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5. Prove the identity using sum and difference formulas: sin [—2— = x) +sin (-2— + x) =-—2Cco8X
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6. Find the exact value forcos165".
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7. Find the exact value forsin -1—5 .
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8.Ifcos A = —@ with 4 in QIII, find:
a.sin2A4 b.cos2A4 c. tan 2‘A
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9. Ifsin 4 =% with 4 in QII, find:

a.sin2A4
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10. From the list below, find the expression equiv 60",

a.sin 30" cos 30°

d.cos? 30" +sin2 30"

11. Simplify the expression using a double angle identity:

12. Simplify the expression using a double angle identity:
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13. Prove the following identity: cos2x=——-— N (05X E = \
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14. Prove the following identity: sec2x = —————
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